SVLNS GOVT.DEGREE COLLEGE :: BHEEMUNIPATNAM
MID-EXAMINATION ENGLISH MAR-2022

L.Answer any one of the following questions:

1X5= 5M

a. what are the differences between Hearing and Listening?

b. What are the types of Listening skills?

€. What are the barriers to Listening?
2.Answer any five of the following questions:
a. List out the barriers to listening,

b. what are the steps involved in listening?

€. What is the importance of listening?

d. What is appreciative listening?

e, What is empathetic listen| ng?

f. What is comprehensive listening?
& What is critical listening?

3. Fill in the blanks with suitable verb forms:

S5x2=10M

10X1/2=5M

a. Padmini (watch) TV serials regularly

b. Don’t disturbl He

(study)

¢. My neighbours

(vacate) the house recently

d. They (play) football for one hour
e. We (paint) the house last week
f. The car broke down while we (return) home

. The fire brigade came after the houses

(gutt)

h.l

1. If you work hard you

(present) a paper in the seminar next week,

(pass) the exam

J. If she had asked me |

(help) her.




SVLNS GOVT.DEGREE COLLEGE :: BHEEMUNIPATNAM
I MID-EXAMINATION ENGLISH MAR-2022

LAnswer any one of the following questions:

1X5= 5M
a. Explain the importance of positive attitude. How can we develop it?
b. How do you demonstrate good interpersonal skills?
c. Write a note on Emotional Intelligence.
2.Answer any five of the following questions: 5%2=10M
3. What is Telephone Etiquette?
b. Describe the qualities needed to develop emotional intelligence?
c. Describe SWOT?
d. What is Attitude?
€. Describe Self Awareness?
f. Write the advantages of Interpersonal skills?
g. Write about relation Management skills?
3.Transform the following sentences as directed 5X1=5M
a. The hunter killed the lion { Change into passive voice)
b. Raviis a student ( Add a question tag)
€. Rishikais as tall as Rencika {Change into Comparative Degree)
d. Hedrinks tea [ Change into passive voice)
e. lama doctor { Add a gquestion tag)
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S.V.L.N.S GOVERNMENT DEGREE COLLEGE, BHEEMUNIPATNAM

DEPARTMENT OF PHYSICS MID | EXAMINATION PHYSICS PAPER |
(MAX.MARKS:20)

SECTION A
Answer any one of the following essay questions (1X5 =5M)

1. Explain the motion of a rocket and deduce expression for its final velocity?
2. State Kepler’s laws of planetary motion and verify first law?
3. Deduce Lorentz transformation equations?

SECTION B
Answer any five of the following short answer questions (5X2 =10M)

Define impact parameter and scattering cross section?
Explain precession of equinoxes?

Show that central force is conservative force?

Werite a short note on geo stationary satellite?

Define central force and write its characteristics?

Write and explain postulates of special theory of relativity?
What is length contraction and obtain expression for it?

NoUhRWNRE

SECTION C
Answer all following objective questions (10X1/2 =5M)

Curl of a conservative force is always........ccccccerveeccvrrcnrecnnene

Kepler's first law is also known as.........c.ccecueerveenene

The path of a planet around sun is.........cccceeuennee.

lamu is equivalent to .........cc.cccceeveeee...MeV

The rest mass of a particle is 10 grams, what is its mass when it is moving with a velocity of light C

i dwhNe

7. The square of time period of a planet is proportional to..........cccceceeerueene.
(a) Cube of length of semi major axis (b) Square of semi minor axis

( ) Square of major axis (d) None of the above

8. The angular momentum of a body under central force is...................
(a) Zero (b) Always constant (c ) Infinite (d) All the above
9. The special theory of relativity treat problems involving....................
(a) Inertial frames (b) Non inertial frames
(b) (c) All reference frames (d) None of the above
10. Length contraction happens only ......................
(a) Along the direction of motion (b) Perpendicular to the direction of motion

(C) Never happens (d) All are correct
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